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Plan View - BASE - Elevation 0 Pier/Spandrel Shear Reinforcing (cm”~2/m) (ACI 318-99) - Ton-m Units



Support Reactions KN-m (A8 4SS Jaadl guse ) Gsim sl sl g
Story Point Load FX FY FzZ MX MY Mz
BASE 1 DI2L12EX -2359 114 53949 -9.999  -56.995  0.122
BASE 1 DI2LI2EY 1467 76  685.05 -2944 13787  -0.008
BASE 2 DI2L12EX -27.97 298  951.65 4073 -82775  0.195
BASE 2 DI2L12EY 238  -11.63 1137.84 17.745 22286  -0.013
BASE 3  DI2L12EX -26.74 3326 1105.33 27.941 -82.627  0.195
BASE 3 DI2L12EY 2715  -258.39 13255 154.894 25502  -0.013
BASE 4 DI2L12EX -2959 -196.02 1633.19 36.196 -86.352  0.195
BASE 4 DI2L12EY 2344  -53057 3117.89 163275 22.085  -0.013
BASE 5  DI12L12EX -27.61 625 49647 6711  -63.142 0122
BASE 5  DI12L12EY 1547  -11.71 816.83 15336  14.699  -0.008
BASE 6  DI2L12EX -87.42  17.99  859.52 -16.646 -137.709  0.195
BASE 6  DI2L12EY -104  11.83  966.88 -4247  -9.917  -0.013
BASE 7  DI2L12EX -14254 006 1459.68 0652 -257.896  0.436
BASE 7  DI2L12EY -19.48  -13.03 1714.04 27.389 -18.201  -0.028
BASE 8  DI2L12EX -14382 211 14797 -1.356 -261.329  0.436
BASE 8  DI2L12EY -17.17  -1053 1700.91 25082 -15.923  -0.028
BASE 9  DI2L12EX -14837 -1566 1248.34 1508 -267.864  0.436
BASE 9  DI2L12EY -21.91  -3022 1459.56 43294 -20.154  -0.028
BASE 10  D12L12EX -70.71 513 98541 5086 -125761  0.195
BASE 10  DI12L12EY -18.74  -13.34 882.04 19412 -17.512  -0.013
BASE 11  DI12L12EX -91.07 1721  682.99 -16572 -141.141 0.195
BASE 11 DI12L12EY  0.02 1019  777.76 -2665  -0.129  -0.013
BASE 12 DI12L12EX -142.85 391  1310.74 -4503 -258.183  0.436
BASE 12 DI12L12EY -1.11  -11.07 142328 25674  -1.217  -0.028
BASE 13 DI12L12EX -97.55 456  2069.89  -51  -21853  0.436
BASE 13 DI12L12EY 2405  -1009 1784.97 24768  22.205  -0.028
BASE 14  DI12L12EX -98.17  -17.06 1793.67 14.89 -221.432  0.436
BASE 14  DI12L12EY 2846  -304 1535.81 43558 26431  -0.028
BASE 15  DI12L12EX -27.02  -7.06  673.6 6241  -84.694  0.195
BASE 15  DI12L12EY 2324  -1338  930.1 19493  21.948  -0.013
BASE 16  D12L12EX -94.46 497  1132.94 569  -89.089  -0.555
BASE 16 ~ D12L12EY -11.57 082  567.17 5056  -5686  -0.395
BASE 17  DI12L12EX -7351  7.85 1530.35 -8.876 -125581  0.195
BASE 17 D12L12EY -6.67  -372 92857 10484  -6.355  -0.013
BASE 18  DI12L12EX -82.66  238.16 2326.83 -33.803 -135.191 0.195
BASE 18  DI2L12EY -336  -26455 168.13 159.565 -31.601  -0.013
BASE 19  DI12L12EX -8327  -89.96 1621.87 -29.143 -136.805 0.195
BASE 19  DI12L12EY -30.21 -548.34 3226.08 167.326 -28.347  -0.013
BASE 20  DI2L12EX -61.03  -1.71  861.85 0683  -94.768  0.122
BASE 20  DI2L12EY -19.36  -11.81 859.43 15537  -18.26  -0.008
BASE 21  DI2L12EX -9327 1434  909.61 -14.417 -117.445 -0.093
BASE 21 DI2LI2EY 7.72 675 83175 0689 2082  -0.447
BASE 22 DI2L12EX -14224 -13.88 1367.38 10.637 -257.625  0.436
BASE 22 DI2LI12EY 221 2504 1393.87 38684 1859  -0.028
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=V, - Ve = (Ratio - 1) * ®V, =(12.115 — 1)*1661.03= 18462.34 ton

v 34*10°

. _1846234%10° . Smax = 9/ =200/ =100 —
T f,d  3000%200
v,

A =
fd

y

cm

) A 307.7
ST s N = —0 = ~34 > O14@10 cm
SFTEIEET T k3% T 1.54%3%2 @

ok Ol 1 e
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Diaphragm CM Displacements _Ccm

i glha lSa i

Story Diaphragm Load

PENT
PENT

STORY6

STORY6
STORY5
STORY5
STORY4
STORY4
STORY3
STORY3
STORY2
STORY2
STORY1
STORY1

D1
D1

D1

D1
D1
D1
D1
D1
D1
D1
D1
D1
D1
D1

EX
EY

EX

EY
EX
EY
EX
EY
EX
EY
EX
EY
EX
EY

UXx

2.2967
-0.0033

2.3179
-0.0035
2.1297
-0.0029
1.8091
-0.0021
1.3873
-0.0014
0.9789
-0.0008
0.2804
-0.0002

uYy Uz RX RY

-0.0913
0.5506

-0.0015

0.5246
-0.0013
0.4257
-0.0009
0.3225
-0.0005
0.2207
-0.0003
0.1285
0
0.0342

O O 0O 0O 0O 0O 0O0O0o0OO0oO o ooo

O O OO 0O 0O 0O 0OO0OO0oO o O oo

O O O 0O 0O 0O 0000 o ooo

RZ Point

-0

135
135

136

136
137
137
138
138
139
139
140
140
141
141

X

1323.41
1323.41

728.45

728.45
729.73
729.73
729.73
729.73
729.89
729.89
730.17
730.17
730.57
730.57

Y Z

252.954 2115
252.954 2115

1000.7 1865

1000.7 1865
1013.4 1570
1013.4 1570
1013.4 1275
1013.4 1275
1013.1 980
1013.1 980
1017.6 685
1017.6 685
1018 295
1018 295

(oo Sl Ol 55 0 53 VL0 a e S e lhae (S st a5 )2 @Dl )

el anh U, Uy s Sl laia J S

Ux =2.318cm < 0.01H =18.65cm

§eaad 8 224 o

OK

( BESETRER 1/5) : sl —l\d Lﬁtb.ﬂ\))d

Uy =0.525¢cm < (1/5)* 0.01H = 3.73cm

o ks Ol gl 1 e

OK



Story Drifts

Glids ol (e s

Story Item Load Point X Y z DriftX  DriftY
PENT Max Drift X EX 16 1460 0 2115 0.000344
PENT Max Drift Y EY 22-Jan 1190 500 2115 0.000087
STORY6 Max Drift X EX 16-Jan 1460 0 17175 0.00076
STORY6 Max Drift Y EY 21-Jan 1190 0 1717.5 0.00036
STORY5 Max Drift X EX 20 1460 1980 1570 0.00118
STORY5 Max Drift Y EY 16 1460 0 1570 0.00035
STORY4 Max Drift X EX 20 1460 1980 1275 0.00152
STORY4 Max Drift Y EY 16 1460 0 1275 0.00035
STORY3 Max Drift X EX 20 1460 1980 980 0.00147
STORY3 Max Drift Y EY 20 1460 1980 980 0.00032
STORY2 Max Drift X EX 20 1460 1980 685 0.00185
STORY2 Max Drift Y EY 16 1460 0 685 0.00025
STORY1 Max Drift X EX 16 1460 0 295 0.00104
STORY1 Max Drift Y EY 20 1460 1980 295 0.00012

FYA e aal ol F-O0-Y sk

Am=(0.7R) * Aw < 0.025H

T <0.7 sec

Drift=(Aw/H) < (0.025/0.7R)

)

Al ja e lé ) H
Al ) (ot lSa jut AW

: Gﬁu;c_ﬂﬁ Lﬁm‘),ﬁ
Tx=055sec < 0.7sec , Rx=10
Drift X (@@k S ) < 0.025/(0.7* 10) =0.00357 OK

Dl S Al o

Ty=04 sec < 0.7sec , Ry=11

Drift Y (<tids S 2) < 0.025/(0.7* 11)=0.00352 OK

G P-A i 4 g0k o

o Ol ) ¢ it



